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Withreference to the ‘Madhubani’ paintings,

consider the following statements:

1. These are also known as Mithila
paintings, for its origin from Mithila
region of Bihar.

2.  These folk paintings do not find
mention in any of the ancient literature.

3. These are traditionally = made
using fingers and twigs, nowadays
matchsticks are also used in making
the paintings.

4.  Traditionally these were painted on
walls using rice paste and vegetable

colors on a base of cow dung and mud.

Which of the statements given above is/are

correct?

(a) 1only

(b) 1,3 and4 only
(¢) 2,4only

(d) 2,3 and4 only

With reference to the ‘Buddhism’, consider

the following statements:

1.  Kanjur means ‘Concise Orders’ — the
words of Lord Buddha in Mangolian.

2. Mangolian Buddhists do not worship
Kanjur at temples but recite the lines

of kanjur in daily life as sacred ritual.

Which of the statements given is/are

correct?
(a) 1only
(b) 2only

(c) Both1 and2
(d) Neither 1 nor 2

Barakah nuclear power plant is located in:
(a) United Arab emirates
(b) Iran

42.

43.

(9-B)

(¢) Saudi Arab
(d) Qatar

With reference to the National Pension

Scheme for Traders and Self Employed

Persons, consider the following statements:

1. For this pension scheme the entry age
group is of 18-50 years.

2. Ifaneligible subscriber dies, his spouse
shall be entitled to receive 100% of
the pension received by such eligible
subscriber.

3. The Central Government shall give 50
% share of the monthly contribution
and remaining 50% contribution shall

be made by the beneficiary.

Which of the statements given above are
not correct?

(a) 1 and3 only

(b) 1 and2 only

(c) 2and3 only

(d 1,2and3

With reference to Non-Banking Finance
companies(NBFC), consider the following
statements:

1.  They cannot accept demand deposits
and are part of the payment and
settlement system.

2. CRR does not apply on any NBFCs
while SLR applies only to Deposit
taking NBFC.

Which of the statements given above is/are
not correct?

(a) 1 only

(b) 2 only

(c) Both1and?2

(d) Neither 1 nor 2
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